nJ%ﬂﬁééﬁﬁ

L EE B SRk

BEE AR DIJI..N
BEEAENRISE DILM ]
S pJo.N_=I[/iIfi

SETER DIAN =]
SHENRITERE _ DIAM _ =—[
ik ot DID.N -
SEEEEIEISE DIDLM  ————

HERH

S 80 HENIRAIERSE DIO.M =[]

EH{IETE

® DJ %51 AT [ i1 R
& RRFISN UL - BRI ELZER o

7% UNIMEC

FLUID-Technik
¢ 12~¢4 100

DIN.N == b

512 RS DINM _—— ==

LBFRNS

FALAE (mm) 012] 916 ] 920] 25| ¢32] p40] ¢50] 463 ] ¢80 ][4 100
a7 (mm) 10,15,20,25,30,35,40,45,50,55,60,75,85,100,125,150
@B EGEE (mm) A3 | B A150
TIFBEHE B IS 2 R ZE R (B BRI )
W EE S ME (MPa) 0.2~0.7 | 0.15~0.7 | 0.1~0.7
EAEEREE (°C) -10~+60
DJN 20 M 10 Z A — LNO1D X 2
I I I I I I I I
Gty RIE | | AERE || TR WER || THIE SRR gy
I I I I I I
E 12— 12mm | |M:pIF R R 10—10mm 1:18
- o 16— 16mm | IN:SEB B R 15—15mm . 2:28
20— ¢ 20mm 20—20mm :
D | 25— 2emm 20 2omm B HRREER
| — ¢ 32mm —30mm i)
< 40— ¢ 40mm 35—-35mm T - LNO1D
50— ¢ 50mm 40—40mm
P 63— ¢ 63mm 45—45mm
DJO 80— ¢ 80mm 50—50mm
| 100— ¢ 100mm 55—55mm
60—60mm
1 75—75mm LNO9D
85—85mm i
DJA 100—100mm 1.G3EANPNEPNPRIT(B4RTY, » 24VDC) ©
T 125—125mm 2. B EAEEEIREERN -
) 150—150mm 3 5EEIR4-1.3884-15
Z.

1-11.1



HJE@%—

TR R

s
“

UNIMEC

FLUID-Technik
¢ 12~¢ 100

IR e EHETIE 1ZEITIE (MR M REAE)
5110 30|35[40(45|50|55(60|75|85[100{125150] 5 [10|15|20|25(30|35(40|45|50|55(65|75|90|115[140]
212 | @@ D D o |®
DJI-L_] [;16 [@]® D ° o |®
BEEAR ole ° 3 @ ° DA
ole D OO
DJOL] 01010 o LJIIL ) DP
ELE 0l®10 L .00
ole|o D OO0
00 ORIOED OERIDED DS
00 OERIOE0 e/oje[o]e
[@]o e/oje[o]e 00 e/oje[o/e]o]e D DQ
D eloje[o]e 00 e/oje[o]e[o]e D
DJA-C] ole e/o[e[o]e o ee OERIOEOE0 D
Lk D OEOE0 oe[® DEDEOED e ee| DB
10 eloje[o]e 00 e/oje[o/e]o]e 00
D e/oje[o]e 00 e/0je[o]e[o]e e[ele| DN
D OERIOE0 oele OEIDEIOERD 00
$1000] @ OERIOE0 oel® OERIDEOED oel®
520 [O]® DEOED NENEOED BN
425 |0]@ e/oje[o]e e/oje[o]e[o]e
432 |0|@ ORIOE0 OEIDEIOER0D ST
DJD-L_1 [¢40 [O]@ OERIOED OEIOEOED
SHEWE [;50 (O] @ OERIOE0 e/0je[o]/e[o]e
463 |0 @ e/oje[o]e e/oje[o]e|o]e NT
#80 [O]@ ORIOE0 e/oje[o/e[o]e
$100/0| @ )| @0/ @0 ® 0000 eove DU
$20 D D o |® D D 00
$25 ® ® OED 0 ° o/® ‘ DJ
$32 D D o |® D D 00
DJN-J [440 ® D o |® D D 00
LEHTRTRE (450 D D OED D D oe TA
$63 D D o |® D D 00
$80 D D o |® D D 00 GP
5100 ® D o |o D D 00
5 ORI AEREANSESmm GS
Il : DJ 20N35Z A HZR T E2DJ 20N4048[F
i IES BN @
o, M e SREH 1R{EES) GT
(mm) (mm) (mm’) 0.2 0.3 0.4 0.5 0.6 0.7
512 56 113 3 25 36 47 58 70 RT
$16 @6 201 29 49 69 89 107 129
DJI-C] $20 8 314 50 80 110 140 170 200
BEEAR 25 # 10 491 70 120 170 220 270 320 CT
$32 512 804 110 190 270 350 430 510
40 ¢ 16 1257 190 320 440 570 690 820 CH
¢ 50 ¢ 20 1963 340 540 740 930 1130 1330
$12 @6 85 7 16 24 33 41 49
$16 @6 173 22 40 57 74 91 109
DJO- ] $20 38 264 40 60 90 110 140 170
BEEHE $25 10 412 60 100 140 180 220 260
¢ 32 @12 691 90 160 220 290 360 430
40 @16 1056 150 260 360 470 570 680
$ 50 ¢ 20 1649 280 450 610 780 940 1110

1-11.2



nlln P IR B 5 < SRk L

s
“

UNIMEC

FLUID-Technik
¢ 12~ ¢ 100

@ DJA..N/DJA...M BY () BDJA:]N nDJAC]Nz
€12, 16 DJALCIM DJALCIMmZ
K1 P P1
E
) )
M
Mg‘j,jik,%f,—,
> 3 ﬂ{ | B g > g | [ _ |
AN A C} C} 2. e L |
D T AN
2 e
N1 N1 2-0(5 L)
W P e R H
m p— E
Os A+T2
B2
$12, ¢ 1SRRI CR B » 35EER 1-11.28 n DJACTIN
. . DJACIM
#1620, 25 KL% ¢ 32~ 6100
P P
4-P4 K1 £ |p2 P2
M — —
—
21z OD——0D
$ | o
]
L) 2-O(57L)
w |N1 | INT)
LT &
Os R B1 C+i7i2
5 ‘ A+{TIE
IR~ 5917 R 2 A BRI C R <L (5,10)(15,20)(25,30)(35,40)(45,50)(55,60)
i N DM gy g D | E|F |6 |H| Ki®d |[ketm| L [ m | M
»12 25 20.5 | 35 30.5 4.5 | 14.5 - 14.5 4.5 - 9 M3Xx0.5P X 7L M5x0.8 9.8 3 75
¢ 16 252 | 215 | 352 | 315 3.7 | 13.7 - 13.7 3.7 - 9 M3 X 0.5P x 7L M5x 0.8 10 3 8
¢ 20 25 19.5 | 35 29.5 55| 195 - 18 4 1.5 13 M4 x0.7P x 10L M6x1.0 13 3 75
@25 272 | 212 | 37.2 | 31.2 6 22 - 20.1 4.1 1.9 15 M5 %< 0.8P x 10L M8 x 1.25 17 3 8
¢ 32 31 24 41 34 7 24 50 20.7 3.7 3.3 16 M6 x 1.0P X 14L M10x1.25 | 22 3 9
40 335 | 265 | 43.5 | 36.5 7 34 58.5| 30.7 3.7 858 25 M8 1.25P X 14L | M14x 1.5 28 8 10
¢ 50 376 | 286 | 47.6 | 38.6 9 36 71.5| 32.1 5.1 3.9 25 M10x1.5Px15L | M18x 1.5 38 3 10.8
»63 | 41 325 | 51 42.5 8.5 | 35.5 845|316 | 46 3.9 25 M10x1.5Px15L | M18x 1.5 | 40 3 11
# 80 52 413 | 62 51.3 | 10.7 | 43.7 | 104 38.7 5.7 5 30 M14x1.5Px20L | M22x1.5 45 4 13
¢ 100 | 54 453 | 64 55,3 8.7 | 41.7 | 124 38.7 5.7 8 30 M16x2.0Px20L [ M22x1.5 | 45 4 15
@ [N3| o | P1 | P2 P4 R|s|[m|[m|v|w|x]|Y
»12 | 6 M5x0.8| 10.5 45 | $4.3,2—M5X0.8P x6L, 1£31,6.5%4.5F - 25 | 15.7 | 22.2 6 5 - -
16 | 6.5 |M5x0.8| 10.5 4.5 | $4.3,2—M5X0.8P X 6L, 1£3,6.5Xx4.5F - 29 | 19.8 | 28 6 5 - -
520 | - |M5%x08]| 11 5 | $4.32 M5x0.8Px6L, {E3,7 x5 B 34 | 24 - 8 6 - -
$25 - |M5x0.8| 14 6 $5.1,2—M6 X 1.0P X 8L, 33,8 X 6;F - 40 | 28 - 10 8 - -
@32 - PT1/8 | 14 6 $5.1,2—M6 X 1.0P X 8L, 1+3,8 X 6;F 6 44 | 34 - 12 10 15 13.6
@40 - PT1/8 | 18 8 ¢ 6.8,2—M8x 1.25P X 10L, 1£3,10 X 8;F 6.5 52 | 40 = 16 14 15 13.6
¢ 50 - PT1/4 | 185 8.5 | #6.8,2—M8x1.25P x 10L, f£31,11 X 8.5 95 62 | 48 - 20 17 216 | 19
¢ 63 - PT1/4 | 18.5 8.5 | #6.8,2—M8X1.25P X 10L, #£3{,11 X 8.5;F 9.5 75 | 60 - 20 17 32 20.5
¢ 80 - PT3/8 | 22.5 | 10.5 | $10.4,2—M12x1.75P x12L, 13,14 X 10.5% | 10 94 | 74 - 25 22 38.8 | 26.8
»100| - PT 3/8 | 28 13 $12.5,2—M14 X 2.0P x 15L, #£31,18.5 X 13;F 10 114 | 90 = 25 22 37.3 | 26.3

1-11.3



¢ 20~ ¢ 100

nl"] P G B < Rt % UNIMEC

EEB RSP R T

@ DJD..N/DJD..M #I nDJD:]N nDJDC]Nz
1% ¢ 20, ¢ 25 p1 b1 DJDCIM DJDCIMZ
4-P4 K1 P2 P2| 2-0(=3L) F
— M DA
o o—x9 <
N1 N1
N1 N1 H DQ
G G E
Comiz .
B1 1718 B1+1712 B2 DB
A+2x(T12
FI1% ¢ 32~ 100 1 P1 nDJD:]N DN
- — - DJDCIM
4-P4 K1 F . P2 P2 2-0(53L) BN
; |:
> >1a
= sl D— O — 3= NT
N1 N1
G G DJ
B1 Cc+Ii2 B1+712
A+2x(T12 TA
HIERSTER HHTHLZAIRIECR I (5,10)(15,20)25,30)3540)45,50)8560) | 3G
g | 20N L DM fgy[g| D |E|F |G |H KIF) |K2B=H| L | M | N1
¢ 20 30.5 | 19.5 | 40.5 | 295 55 | 195 - 18 4 1.5 13 M4x0.7Px10L [M6X1.0 13 3 7.5 GM
$25 | 332 | 212 | 432 | 31.2 6 22 - 20.1 4.1 1.9 15 M5x0.8Px10L |M8x1.25 17 3 8
@32 38 24 48 34 7 24 50 20.7 | 3.7 3.3 16 M6x1.0Px14L |M10x1.25| 22 3 9
¢ 40 40.5 | 26.5 | 50.5 | 36.5 7 34 58.5| 30.7 3.7 3.3 25 M8 1.25P X 14L | M14 X 1.5 28 3 10 GT
¢ 50 46.6 | 28.6 | 56.6 | 38.6 9 36 71.5]| 32.1 5.1 3.9 25 M10x1.5Px15L | M18x 1.5 38 3 10.8
»63 | 495 | 325 | 59.5 | 425 85 | 355 | 845| 316 | 4.6 3.9 25 M10x1.5Px15L | M18x 1.5 40 3 11 RT
¢ 80 62.7 | 41.3 | 727 | 51.3 | 10.7 | 43.7 | 104 38.7 | 57 5 30 M14x1.5Px20L | M22x 1.5 45 4 13
»100| 62.7 | 453 | 72.7 | 55.3 8.7 | 41.7 | 124 38.7 5.7 3 30 M16x2.0Px20L | M22x1.5 45 4 15 CT
(@[ N3 | O P1 | P2 P4 R| s |[m|v|w/|x]|Y \—
$20 | - | M5x0.8 | 11 5 $4.3,2—M5x0.8P X 6L, 13,7 X 5 - 34 | 24 8 6 - - CH
$25 | - | M5x08 ][ 14 6 $5.1,2—M6x 1.0P X 8L, 3,8 X 63F - 40 [ 28 [ 10 8 | - -
¢ 32 - PT 1/8 14 6 $5.1,2—M6 X 1.0P X 8L, 13,8 X 6;F 6 44 34 12 10 15 13.6
¢ 40 - PT 1/8 18 8 $6.8,2—M8x 1.25P X 10L, #+3,10 X 8;F 6.5 52 40 16 14 15 13.6
50 - PT1/4 | 185 | 85| $6.82—M8x1.25Px 10L, 3,11 x 8.5 95| 62| 48 | 20 | 17 | 216 | 19
$63 5 PT1/4 | 185 | 85| $6.82—M8x1.25Px 10L, £3,11 X 8.5 95| 75| 60 | 20 | 17 |32 | 205
# 80 - PT 3/8 225 | 10.5 $10.4,2—M12x1.75P X 12L, 1£3],14 X 10.5;F 10 94 74 25 22 38.8 | 26.8
$100] - PT3/8 |28 |13 $12.52—M14x2.0Px 15L, {£3,18.5x13€ | 10 | 114 | 90 | 25 | 22 [37.3] 263

1-11.4



E e == 5aAl] I L= /
] A4 TR A & # UNIMEC
H TT A = sz v 7 yiD-Technik
¢ 20~ ¢ 100
"/,
IR~
@ DJIN..N..A/DJN..M..A &Y (773 25mm) nDJNC]N nDJNC]Nz
1% ¢ 20, ¢ 25 DINCIM DINCIMZ
P1 P1
4-P4 K1 F_, P2, P2 2-0(s=3L) F
R1
ml, [——‘ M
‘ —— I —
@ xS : o ~ ;%:
&) _|>| © & 2 4>¥| —
\/} 1\ N ~ ” L= —
g
G
[@ p==o]
W G N1 N1 G H
oT1 B1 C+17#2 G+T18 E
Os A+2x 1712 R2 B2
A% ¢ 32~ 4 100 1 P nDJNC]N
4-P4 K1 F o, .|P2 P2| 2-0(53L) DINCIM
R1
LH — —
— [
5 I 0 L'L
RS yan\ ‘. I 1)
\ % ” 14
G N1 N1 G
Bl C+Ii2 G+Ii2
A+2 X172 R2
D
HIERSTER 591 TR 2 A BRI C R HEIRL: (5,10)(15,20)(25,30)(35,40)(45,50)(55,60)
g | 2MN-N L DIN-M F gy [g2| D | E|F |G |H KIF) |K2B=H| L | M | N1
¢ 20 26.5| 19.5 | 36.5 | 29.5 55 | 195 - 18 4 1.5 13 M4x0.7Px10L [M6X1.0 13 3 7.5
»25 | 291 | 212 | 39.1 | 31.2 6 22 - 20.1 4.1 1.9 15 M5x0.8Px10L [M8x1.25 17 3 8
@32 343 | 24 443 | 34 7 24 50 20.7 | 3.7 3.3 16 M6x1.0Px14L |M10x1.25| 22 3 9
¢ 40 36.8 | 26.5 | 46.8 | 36.5 7 34 58.5| 30.7 3.7 3.3 25 M8 1.25P X 14L | M14 X 1.5 28 3 10
¢ 50 415 | 286 | 51.5 | 38.6 9 36 71.5]| 32.1 5.1 3.9 25 M10x1.5Px15L | M18x 1.5 38 3 10.8
»63 | 449 | 325 | 549 | 425 85 | 355 | 845| 316 | 4.6 3.9 25 M10x1.5Px15L | M18x 1.5 40 3 11
¢ 80 57 41.3 | 67 51.3 | 10.7 | 43.7 | 104 38.7 | 57 5 30 M14x1.5Px20L | M22x1.5 45 4 13
¢ 100 | 57 453 | 67 51513 8.7 | 41.7 | 124 38.7 | 57 3 30 M16x2.0Px20L | M22x1.5 45 4 15
s o | p1|p2 P4 R|R1I|R2|R3[ s |[T1|V | wW|X]|Y
$20 |M5x0.8] 11 5 | $4.32—M5x0.8P 6L, 13,7 X 5:F - |31 [395] 16 | 34| 24| 8] 6| - -
$25 |[M5x0.8] 14 | 6 |$5.1,2—M6x1.0Px8L, {318 X 6:F - [ 3343 [20] a0 2810 8] - 5
¢ 32 PT1/8 | 14 6 $5.1,2—M6 X 1.0P X 8L, 13,8 X 6;F 6 33 |445| 25 44 | 34 12 10 | 15 13.6
540 | PT1/8 | 18 | 8 | $6.8,2—M8x1.25P x 10L, £E3,10 x 8 65|35 |50 | 32| 52| 40 | 16 | 14 | 15 | 13.6
$50 | PT1/4 | 185 | 8.5] ¢6.8,2—M8x 1.25P x 10L, ££3,11 X 8.5 95|37 |57 | 38| 62| 48 | 20 | 17 | 216 | 19
@63 PT1/4 | 185 | 8.5| ¢6.8,2—M8x1.25P x 10L, 133,11 X 8.5;F 95| 37 | 57 38 75| 60 20 17 | 32 20.5
# 80 PT3/8 | 225 | 10.5| ¢ 10.4,2—M12x1.75P x 12L, #£3,14 X 10.5;%| 10 37 | 59.5| 44 94 | 74 25 22 | 38.8 | 26.8
$100| PT3/8 [ 28 [13 [ 412,52 M14x2.0Px 15L, &3,18.5x13:& |10 | 37 | 59.5] 44 | 114 | 90 | 25 [ 22 | 37.3 [ 26.3

1-11.5



PN oo e s

PR

s
“

UNIMEC

FLUID-Technik
¢ 20~ ¢ 100

@ DJIN..N..B/DJN..M..B B (75 40mm) nDJNC]N nDJNC]Nz
1% ¢ 20, ¢ 25 DINCIM DINCIMZ
P1 P1
4-P4 K1 F .. P2, P2| 2-0(%3l) F
R1
. T—‘ M DA
S — T
(e FBlo ¢ b J bP
© o) > < & 2 4> ¢ -—
%) ] O DS
=40 El
W G N1 N1 G H DQ
aT1 B1 C+{7ig G+{J18 E
Os A2 TR R B2 DB
1€ ¢ 32,4 100 b1 b1 nDJNC]N DN
4-P4 K1 F . lP2 P2 2-0(30L) DINCIM BN
M R1
e M = —
- = ST
— T nN
(@ S S B ) NT
HINN\Z)L I IS : H
S E
N DU
lop==4c EE
w G N1 N1 G
oT1 B1 C+Jig G+{J12 DJ
os R AR2X TR R2
- TA
HIERSTER HHTHLZAIRIECR I (5,10)(15,20)25,30)3540)45,50)8560) | 3G
g | 2MN-N L DIN-M Fgy g | p | E|F |G| H| K@EH |[kOH|[L|[M|N
¢ 20 26.5| 19.5 | 36.5 | 29.5 55 | 195 - 18 4 1.5 13 M4x0.7Px10L [M6X1.0 13 3 7.5 GM
»25 | 291 | 212 | 39.5 | 31.2 6 22 - 20.1 4.1 1.9 15 M5x0.8Px10L |M8x1.25 17 3 8
@32 343 | 24 443 | 34 7 24 50 20.7 | 3.7 3.3 16 M6x1.0Px14L |M10x1.25| 22 3 9
¢ 40 36.8 | 26.5 | 46.8 | 36.5 7 34 58.5| 30.7 3.7 3.3 25 M8 1.25P X 14L | M14 X 1.5 28 3 10 GT
¢ 50 415 | 286 | 51.5 | 38.6 9 36 71.5]| 32.1 5.1 3.9 25 M10x1.5Px15L | M18x 1.5 38 3 10.8
»63 | 449 | 325 | 549 | 425 85 | 355 | 845| 316 | 4.6 3.9 25 M10x1.5Px15L | M18x 1.5 40 3 11 RT
¢ 80 57 41.3 | 67 51.3 | 10.7 | 43.7 | 104 38.7 | 57 5 30 M14x1.5Px20L | M22x 1.5 45 4 13
¢ 100 | 57 453 | 67 51513 8.7 | 41.7 | 124 38.7 | 57 3 30 M16x2.0Px20L | M22x1.5 45 4 15 CT
| o | P1|p2 P4 R|RI|R|R3|[s|[T|[v]|w]| x|vY \—
$20 |M5x0.8] 11 5 | $4.3,2—M5x0.8P X 6L, 13,7 X 5:& - |56 |645| 16| 34| 24| 8| 6| - - CH
$25 |[M5x0.8] 14 | 6 |$5.1,2—M6x1.0Px8L, {318 X 6:F - |58 |68 [20] a0 2810 8] - 5
¢ 32 PT1/8 | 14 6 $5.1,2—M6 X 1.0P X 8L, 13,8 X 6;F 6 58 |69.5| 25 44 | 34 12 10 | 15 13.6
540 | PT1/8 | 18 | 8 | $6.8,2—M8x1.25P x 10L, £E3,10 x 8 65|60 |75 | 32| 52| 40 | 16 | 14 | 15 | 13.6
$50 | PT1/4 | 185 | 8.5] ¢6.8,2—M8x 1.25P x 10L, ££3,11 X 8.5 95|62 |82 | 38| 62| 48 | 20 | 17 | 216 | 19
@63 PT1/4 | 185 | 8.5| ¢6.8,2—M8x1.25P x 10L, 133,11 X 8.5;F 95| 62 | 82 38 75| 60 20 17 | 32 20.5
# 80 PT3/8 | 225 | 10.5| ¢ 10.4,2—M12x1.75P x 12L, #£3,14 X 10.5;%| 10 62 | 84.5| 44 94 | 74 25 22 | 38.8 | 26.8
$100| PT3/8 [ 28 [13 [ 412,52 M14x2.0Px 151, K3,18.5x13:& |10 | 62 | 84.5] 44 | 114 | 90 | 25 | 22 | 37.3 [ 26.3

1-11.6



AR G O 4 SR BT 7# UNIMEC
j:_;‘ * FLUID-Technik
¢ 12~¢4 100
<% Fr e
ATFRBARH R 2R
@ DJA A
@ DJD #!
<

R NS

GI{E | EERmEN | A B C D E
12 LNO1D 345| 22 95 | 165 | 22
16 LNO1D 38.5| 24 95 | 165 | 22

20 LNO1D 435|265 | 95 | 1565 | 22

25 LNO1D 495|295 | 95 | 1565 | 22

32 LNO1D 535|315 | 95 | 155 | 22

40 LNO1D 615|355 | 95 | 1565 | 22

50 LNO1D 715|405 | 95 | 1565 | 22 |<

63 LNO1D 84.5| 47 95 | 1565 | 22

80 LNO1D 103.5| 56.5 | 9.5 | 165 | 22

100 LNO1D 123.5| 66.5 | 9.5 | 1565 | 22

fEHRATIE /T2

it

oe o

E—ch

K<Y [E3E45) FrRES [E3E45)
12 DJASK12 - 54 N0.9,10,12 12 DJDSK12 - 1% No.9,10,12
16 DJASK16 - 84 N0.9,10,12 16 DJDSK16 - 1% No.9,10,12
20 DJASK20 - B4 No.9,10,12 20 DJDSK20 - &% No.9,10,12
25 DJASK25 - B2 No0.9,10,12 25 DJDSK25 - &2 N0.9,10,12
32 DJASK32 - 54 No.9,10,12 32 DJDSK32 - 1% No.9,10,12
40 DJASK40 - 84 No.9,10,12 40 DJDSK40 - 1% No.9,10,12
50 DJASK50 - 84 No.9,10,12 50 DJDSK50 - 1% No.9,10,12
63 DJASK63 - B4 No.9,10,12 63 DJDSK63 - &2 No.9,10,12
80 DJASK80 - 4 No.9,10,12 80 DJDSK80 - 1% No.9,10,12
100 DJASK100 - 4 No.9,10,12 100 DJDSK100 - A1 No.9,10,12
@@ D@21 (@190 11T
9
8
i

FR

No. FH4H it |No. EHLR it |No. FHLH Wit
1 iz 1 |6 3 I R 1
2 EIAE 1|7 FLITHIR 2 |12 i O 2
3 G 1|8 MR 1|13 BB 1
4 SRALAHE 1 it 1 |14 iR 1
5 W 1 |10 EIEER 1|15

1-11.7




M' LR $1 25 <5 B )y

g AIME RF

=

KL

s
“

UNIMEC

FLUID-Technik
¢ 12~450

@ DJI..N DJI.M #U
i ¢ 12,916

K1

2N\
\ |

)

[

|‘L
/(4

(

3

[l
[}

T ¢ 20, ¢ 25

DJI LN
DJI CIM
L T il
P2 P2

LN;

B1

C+{312

1 O(®3L)

A+{T1E

¢ 12, ¢ 16AMIRAE"C R TR » F3FRE 1-11.25

L1 ¢ 32~ ¢ 50

4-P4

n DJICINZ
DJICIMZ
E
M
20> N( F, il
S le|X
H
E
B2
n DJICIN
DJICIM
P P
F L 1P2 P2
M — ——
— 11—
2z g e—O
r A\ T\
(HEm3L) o(®=3L)
|N1 | | N1 |
G
B1 C+{712
A+HTIE

o
>

DP

O
wn

D
DB

o

DN

us)
Z

gl Z
ci| -

88/¥2eEe228388:s

J

>

1-11.8

SRR AT AR EE"C R < iF: (5,10)(15,20)(25,30)(35,40)(45,50)(55,60)
DJI..N DJI..M
B [ 72 5-15 | 77k2 20~30 | 4742 5~10 7717 20 B1|B2| D | E| F| G| H K1(RF) [K2(5HF)| L
A C A C A C A C
12 | 35 30.5 | 35 30.5 | 45 40.5 | 45 405 | 45 [ 145 - 145| 4.5 - 9 |[M3x0.5Px7L [M5x0.8 9.8 GM
$16 | 35.2 | 315 | 352 | 315 (452 | 415|452 | 415 | 3.7 | 13.7| - 13.7| 3.7 = 9 |[M3x0.5Px7L [M5x0.8 10
»20 | 35 29.5 | 35 29.5 | 45 39.5 | 45 395 55 |19.5 - 18 4 1.5 | 13 |M4x0.7Px10L |M6x1.0 13
$25 | 372 (312 | 372|312 (472|412 | 472|412 | 6 22 = 201| 41 | 2 15 |M5x0.8Px10L |M8x1.25 |17 GT
32 | 41 34 41 34 51 44 51 44 7 24 50 20.7| 3.7 | 3.3 | 16 [M6Xx1.0Px14L [M10x1.25| 22
»40 | 43.5 | 36.5 | 43.5 | 36.5 | 53.5 | 46.5 | 53.5 | 46.5 | 7 34 58.5(30.7| 3.7 | 3.3 | 25 |M8x1.25Px14L|M14x1.5 |28 RT
$50 | 47.6 | 38.6 | 47.6 | 38,6 | 57.6 | 486 | 576 | 48.6 | 9 36 715321 51 | 3.9 | 25 |M10x1.5Px15L|M18x1.5 | 38
| M | N1 | N3 o P1 | P2 P4 R S | TM|T2| V |W| X Y CT
#12 | 3 | 756 |M5x0.8[105] 45 | $4.3,2—M5x0.8P x 6L, 131,6.5X 4.5 - | 25 [157]222] 6| 5| - | -
$16 | 3 | 8 [ 65 [M5x08[105] 45 [ $4.32—M5x0.8Px6L, {£3,6.5%4.5% - | 29 [19.8] 28 6| 5| - | - CH
20| 3 | 75| - |[mM5x08[11 |5 $4.3,2—M5x0.8P x 6L, K317 X 5% - 3424 | - 8| 6| - | -
25 3 8 - |[M5%0.8| 14 6 $5.1,2—M6 X 1.0P X 8L, 13,8 X 6;F - 40 | 28 - 10 8 - -
32| 3 | 9 - [ pT1s 14 |6 $5.1,2—M6x 1.0P x 8L, 13,8 X 6% 6 | 44 |34 | - | 12| 10 [15 [136
40 3 |10 - PT1/8 |18 8 $6.8,2—M8 X 1.25P X 10L, #£3{,10 X 8;F 6.5 | 52 |40 = 16 14 [15 13.6
¢ 50 3 |10.8 - PT1/4 |185]| 85 $6.8,2—M8 X 1.25P X 10L, #£31,11 X 8.5;F 95 | 62 |48 - 20 17 |121.6|19



v L Py L= v,
U ER G < B Bl SRk % UNIMEC
¢ 12~ ¢ 50
BB RV R ST
@ DJO..N/DJO..M #! nDJo:]N nDJo:]Nz
i€ 12,416 DJOCIM pJo[IMz
K1 P1 P1
P2 P2
" = =
7 — u
(@ 2Tt <R R
N w Zz Ll
DR== omn | O
= [T B/
N1 N1 (BEm3L)
o BI+HTRR [T CH+FEE H F+T12
S A¥2x(T12 E+312
B2+{712
312, ¢ 16ARERE"C R » 3ER 1-11.28 n DJOCIN
K18 620,625 FT1S ¢ 32~ ¢ 50 bJoLm
P1 P1
FHTE _ P2, P2
M — ——
=
2 B —e
O(®3L)
| N1 | | N1\ BER3L)
G
B1+{712 C+{712
A+2x(T12

SRR AT AR EE"C R < iF: (5,10)(15,20)(25,30)(35,40)(45,50)(55,60)
DJO..N DJO..M
B [ 72 5-15 | 77k= 20~30 | 4742 5~10 7717 20 B1|B2| D | E| F| G| H K1(RF) [K2(5HF)| L
A C A C A C A C

12 | 35 30.5 | 35 30.5 | 45 40.5 | 45 405 | 45 [ 145 - 145| 4.5 - 9 |[M3x0.5Px7L [M5x0.8 9.8
$16 | 35.2 | 315 | 352 | 315 (452 | 415|452 | 415 | 3.7 | 13.7| - 13.7| 3.7 = 9 |[M3x0.5Px7L [M5x0.8 10
»20 | 35 29.5 | 35 29.5 | 45 39.5 | 45 395 55 |19.5 - 18 4 1.5 | 13 |M4x0.7Px10L |M6x1.0 13
$25 | 372 (312 | 372|312 (472|412 | 472|412 | 6 22 = 201| 41 | 2 15 |M5x0.8Px10L |M8x1.25 |17
32 | 41 34 41 34 51 44 51 44 7 24 50 20.7| 3.7 | 3.3 | 16 [M6Xx1.0Px14L [M10x1.25| 22
»40 | 43.5 | 36.5 | 43.5 | 36.5 | 53.5 | 46.5 | 53.5 | 46.5 | 7 34 58.5(30.7| 3.7 | 3.3 | 25 |M8x1.25Px14L|M14x1.5 |28
$50 | 47.6 | 38.6 | 47.6 | 38,6 | 57.6 | 486 | 576 | 48.6 | 9 36 715321 51 | 3.9 | 25 |M10x1.5Px15L|M18x1.5 | 38
| M | N1 | N3 o P1 | P2 P4 R S | T1| T2 | V X Y
#12 | 3 | 756 |M5x0.8[105] 45 | $4.3,2—M5x0.8P x 6L, 131,6.5X 4.5 - | 25 [157]222] 6| 5| - | -
$16 | 3 | 8 [ 65 [M5x08[105] 45 [ $4.32—M5x0.8Px6L, {£3,6.5%4.5% - | 29 [19.8] 28 6| 5| - | -
20| 3 | 75| - |[mM5x08[11 |5 $4.3,2—M5x0.8P x 6L, K317 X 5% - 3424 | - 8| 6| - | -
25 3 8 - |[M5%0.8| 14 6 $5.1,2—M6 X 1.0P X 8L, 13,8 X 6;F - 40 | 28 - 10 8 - -
32| 3 | 9 - [ pT1s 14 |6 $5.1,2—M6x 1.0P x 8L, 13,8 X 6% 6 | 44 |34 | - | 12| 10 [15 [136
40 3 |10 - PT1/8 |18 8 $6.8,2—M8 X 1.25P X 10L, #£3{,10 X 8;F 6.5 | 52 |40 = 16 14 [15 13.6
¢ 50 3 |10.8 - PT1/4 |185]| 85 $6.8,2—M8 X 1.25P X 10L, #£31,11 X 8.5;F 95 | 62 |48 - 20 17 |121.6|19

1-11.9



SEE AN = 7
et U §i < BE ) SRk % UNIMEC
| | ¢ 12~ ¢ 50
pig e e I NG
@ DJI & E
@ DJO R P, D
DA
< DP
DS
o DQ
ik NS
HIE [mmmgmm| A [ B | C | D | E DB
»12 LNO1D 345 | 22 95 | 165 | 22
$16 LNO1D [ 385 |24 | 95 155 22 DN
¢ 20 LNO1D 435|265 | 95 | 1565 | 22
25 LNO1D 495 |295| 95 (155 | 22 | < BN
$32 | LNOID | 535|315 95 | 155 | 22
$40 LNO1D 615 |355| 95 | 1565 | 22
50 LNO1D 715|405 | 95 | 155 | 22 ST
. . NT
AT =K
DJLISK \—i P 5EE P 5EE bu
.l 12 DJISK12 - 8% No.10,12 12 DJOSK12 - 14 No.9,10,12
m 16 DJISK16 - 12 No0.10,12 16 DJOSK16 - 82 No0.9,10,12 DJ
20 DJISK20 - £% No.10,12 20 DJOSK20 - &% No0.9,10,12
25 DJISK25 - 1% No.10,12 25 DJOSK25 - &% No.9,10,12 TA
32 DJISK32 - 84 No.10,12 32 DJOSK32 - &4 No.9,10,12
40 DJISK40 - 2 No.10,12 40 DJOSK40 - 82 No0.9,10,12 GP
50 DJISK50 - 12 No.10,12 50 DJOSK50 - £2 No0.9,10,12
@ @ GS
| | GM
I
RN , GT
L
,,,,,, " — ,,,ﬁ&\m\j\m B RT
or
FErR CH
No. Eeza %t |No. iz # it | No. EeEa B
1| i 1| 6| % 1| M| R 1
2 IGIEAHE 1 7 | LB 2 |12 AR ERORIER 2
3 TEE 1 8 | izzlHiK 1 |13 fg 1
4 | REAR 1| 9| Wi 1 |14
5 | [ 1 [10] wmsmam 118

1-11.10



YEE Pas X £==
Y §H G 5 R SRk 4 UNIMEC
¢20~¢ 63
LSRR AN
S EARE DJQ..N =
W AR (et DJIQ..M =0
(O
S FAY DJQ..N..Z =
IS F R st DJIQ.M..Z f=
® 2 G n] TR R IETRE @ DU E A - FIEEE -
o [T 8 » nKEERM - o BAWIRIMY » 3 -
® JLHRG » {572 -
B R
ik DJQ DJO-Z
SALAE (mm) ¢ 20~ 63 $ 32~ 63
BT (mm) 10,20,30,40,50,60,70,80
TR ELIEIE 2 AR 2SR
(B ) dilR (Mpa) 0.1~1.03
AR #E (°C) -10~+60

BRIk
3‘2

Z

— LN?1D X

B P IR 1312 ImRELTY ITHEFIR EEEREE
20— ¢ 20mm M: IR R R 10—10mm 118
25—¢25mm | | NI REE 20-—20mm 2:28
B > 32— ¢ 32mm 30—30mm
Q 40— ¢ 40mm 40—40mm
DJQ 50— ¢ 50mm 50—50mm o
63— ¢ 63mm 60—60mm ;ID' SEFENPNAPNPRLZE
70—70
80__8omm (33t + 24V0C) -
2 TR LR RE
BRI -
3. FEEIR4-1.3E84-15
SR LT e Bl g A FHE B A Se LT e Bl {0 T 2 A
X=0 mm
X

/17
7/

FAHEE Nm

I iy

77
/7]
K~

|-
Iy

. i
TTe=H 1T

T
0 10 20 30 40 50 60

70 80

1712 mm

X= TE& )i
S= TEafE L

F= {1 £ 1

1-11.11

z ¢ 5l 3
~] ﬁ N 232,240
— lF S a N Suiy
—_1 = 20 N \\\
\\\ T~ —~——

$20,25
\

0

1
10 20 30 40 50 60 70 80

312 mm



VHETEL SU1 A 4 5 i o2 AT # UNIMEC
{‘ == ':'j‘f‘ N 7K | FLUID-Technik
20~ 463
T Y 7 FE L
PR TR R ER
Py S DJQ DJQ.M
= /5% 10 [ 20 [ 30 | 40 [ 50 | 60 | 75 | 85 ] 100 10 [ 20 [ 30 [ 40 [ 50 [ 65 [ 75 | 90
$20 oo |0 0o 0|0 | — | — | — e e [oe [0 0| | — | —
$25 o/ o/ 0o 0 0 0 — | — | - e o006 0| — | — | —
HE [m= DJQ DJQ.Z DJQ.M_DJQ.M.Z DA
= |32 10 203 [4 [ 50 [e0] 75] 85100 10 [ 20 [ 30 ] 405 [e5 ] 75 9
$32 o/ oo 0o 0o 0 0 - - o e[ o [0 [0 |0 | - -
¢40 [ ] () [ ) [ ) [ ) () () - - () () () [ ) [ ) () - - DP
¢50 [ ] [ ) [ ] [ ] [ ] [ ] [ ] [ ) [ ) [ ] [ ] [ ] [ ) [ ) [ ) [ ) [ )
463 o/ o/ 0o/ 0o 0o 06 0 o o o 06060 0o [0 o DS
= s HEe
RRHEDHIN 23 T ba
D D E
|l A o8 _
a a DN
fIfE€ |mmkmRiX| A | B | C | D | E ‘-’I
$20 LNOTD | 435|265 95 [ 155 | 22 o b - ‘BN
$25 LNOID [ 49.5 205 05 [165 | 22 | _
$32 LNO1D | 535|315 95 | 155 | 22 L _
$40 LNO1D | 615|355 95 | 155 | 22
450 LNO1D | 715|405 95 [ 155 | 22 D i
463 LNO1D | 845 |47 | 95 | 155 | 22 r
EHaETI% 2K DU
DJQSK \_E T BB DJ
20 DJQSK20 - B4 No.12,13,15
25 DJQSK25 - B4 No.12,13,15
32 DJQSK32 - @4 No.12,13,15 TA
40 DJQSK40 - B4 No.12,13,15
50 DJQSK50 - B34 No.12,13,15
63 DJQSK63 - B4 No.12,13,15

\\\iaiitiriy

G
GM

w

HEEREHEEHEEEEE

18 i / ®
| GT
el
N ol 1N\ fa RT
| N
= CT
oy — = o —E
Elpk CH
No. BT i | No BT 9 | No. BT Wi
1| #i#E 1 8 | Hfg 2 | 15| gitkEHOMIR 2
2 | EIEART 1 9 | HEEH 1 |16 HERA 1
3 | JHER 1 10 | FLAIHIER 2 |17 fuiiR 1
4 | FELART 1 11 | szl 1 |18 LA 7 2
5 | R 1|12 i 1|19 |  BENG 1
6 | %&E 1 13 | IHIEER 1 120 TREXIR R 2
7 | EEER 1 14 | [iZEEE 1121

1-11.12



¢20~¢ 63

nlln PR G5 <5 AR SRR L % UNIMEC

EEFRIHE R

D
H1% ¢ 20~ 63 DJQLIN

P3 P3
2-U
I I
L
N1 N1 2-0
0s R B1 C+{712
D X A+{T12
H+{TiE

@ DJQ.Z A
1% ¢ 32~ ¢ 63

K2

B1 C+7ie

D X A+TIE

H+15%2
WIER~F %R AINTIL 2 AR C T HHIL: (5,10)(15,20)(25,30)(35,40)(45,50)(55,60)
frARES A B1 c D E F G H 1 K2 KH L N N1
$20 | 25 55 | 195 M6 M6 | 24 | 33 24 34 75
925 | 272 | 6 212 | — M6 M6 | 28 | 352 | 28 — — | 396 | — 8
$32 | 31 7 24 50 $55x $10x55L | M5 | 28 | 43 28 | M10x1.25 | 22 | 48 25 9

¢ 40 335 | 7 26.5 | 58 $55X ¢10x5.5L | M5 33 45.5 33 M14x1.5 22 56.5 25 10
» 50 376 | 9 286 | 71 $6.5% ¢ 11X6.5L M6 42 49.6 42 M16x 1.5 22 68 30 10.8
¢ 63 41 8.5 325 | 845 | ¢6.5X $11x6.5L M6 50 53 50 M16x 1.5 22 85 30 11

[ARES o P1 P3 P4 R S T T1 u v w X Y

¢20 |M5x0.8| ¢3.8,2-1F3$6.5X5F, 2-M5x0.8P X 6L 11 5 — 34 — 24 6.5 — 6 8 —
¢25 |M5x0.8| ¢5.1,2-413], ¢ 8X6iF, 2-M6 X 1.0P X 8L 14 6 — 40 — 28 6.5 — 8 8 —
$32 | PT1/8 | ¢5.1,2-1F31 ¢ 8 X 6iF, 2-M6 X 1.0P X 8L 14 6 6 44 25 34 8.5 5 10 12 13.6
¢40 | PT1/8 | ¢6.8.2-1F3, ¢ 10X 8F, 2-M8x 1.25Px 10L | 18 8 6.5 52 25 40 10.5 5 14 12 13.6
¢50 | PT1/4 | ¢6.82-13, ¢ 10x8F, 2-M8Xx 1.25Px 10L| 18.5 8.5 9.5 62 25 48 10.5 5 17 12 19

¢63 | PT1/4 | $6.82-113 ¢ 10X 8%, 2-M8X 1.25Px10L| 18.5 | 8.5 9.5 75 25 60 10.5 5 17 12 20.5

1-11.13



nlm JHLIE S0t A B 500 L

8 Bl U B RO R

SHERF

s
“

UNIMEC

FLUID-Technik
¢20~¢ 63

@ DJQ.M A
1% ¢ 20~ ¢ 63

[ o PYS=lY

P3 P3
2-U w P4 P4
=2 2-U Lot o] 2-P1 DA
i . | ,@7, A DS
e
| "Ai‘,
@, S © N O e U SO DQ
|
L
G N1 N1\ 20 DB
OT1
Os R B1 c+IR DN
D X A+TR2
H+Ti2 BN
@ DJQ..M..Z &Y
K ¢ 32~ ¢ 63 nDJQ:]MZ ST
2-P1 |:
2| N
- E
I e i —— GP
N v N1 N1 2-0 |:
B1 C+HIE
D X A+TI2 GM
- E
W R~ 2 L2 AR C" R <FAHIFL: (5,10)(15,20)(25,30)(35,40)(45,50)(55,60) AT
f | A [ B1| ¢ | D E F| G| H | K2 KH| L | N | N1
¢ 20 35 5.5 29.5 M6 M6 24 43 24 34 7.5 CT
@25 37.2 6 31.2 = M6 M6 28 45.2 28 = = 39.6 = 8
$32 41 7 34 50 $5.5%X ¢ 10x5.5L M5 28 53 28 M14x 1.5 22 48 25 9
¢ 40 43.5 7 36.5 | 58 $5.5% ¢ 10x5.5L M5 33 5455 33 M14x 1.5 22 56.5 25 10 CH
# 50 47.6 9 386 | 71 $6.5X ¢ 11Xx6.5L M6 42 59.6 42 M16x 1.5 22 68 30 10.8
¢ 63 51 8.5 425 | 845 $6.5X ¢11x6.5L M6 50 63 50 M16x 1.5 22 85 30 11
iE | o P1 P3|Pa| R[S |[T|T|u|vVv | w]|x]|yY
$20 |M5x0.8| ¢3.8,2-13, ¢ 6.5X 5%, 2-M5x 0.8P x 6L 1" 5 — 34 — 24 6.5 — 6 8 —
$25 |M5x0.8| ¢5.1,2-1£3 ¢ 8 X 6F, 2-M6x 1.0P X 8L 14 6 — 40 — 28 6.5 — 8 8 —
@32 PT 1/8 | ¢5.1,2-1F3, ¢ 8 X 6i%, 2-M6 X 1.0P X 8L 14 6 6 44 25 34 8.5 5 10 12 13.6
@40 PT 1/8 | ¢6.8,2-13, ¢ 10X 8iF, 2-M8x1.25P X 10L | 18 8 6.5 52 25 40 10.5 5 14 12 13.6
# 50 PT 1/4 | ¢6.8,2-13, ¢ 10X 8iF, 2-M8x1.25P X 10L | 18.5 8.5 9.5 62 25 48 10.5 5 17 12 19
¢ 63 PT1/4 | $6.8,2-13[ ¢ 10X 8F, 2-M8x 1.25P X 10L | 18.5 8.5 9.5 75 25 60 10.5 5 17 12 20.5

1-11.14



